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A= Dol SA : DEIEF AL
Hu: AATA Sl 25
SISl 4%t MRS ME2 K B s (Shol: % 2)
424 - ZH - O9i(E) - MRAY - BES ofl & A HDS2
= 5,137,830
CEREREIEE 500,000 500,000
308 XHXISHAISOI = 500,000 500,000
13 21 2ASHHSBAH IS AL Y| 500,000 500,000
OMg CIXIE ®E 2o NFHH PE(US
) 500,000
AT SE - ZUIAY A R ASHI TEAY 6,235,500 7,251,000 A1,015,500
2 4,740,000
= 1,495,500
403 RXISHHI SRH=0I & 6,235,500 7,251,000 A1,015,500
2 4,740,000
= 1,495,500
01 RXISHH XL E 6,235,500 7,251,000 ~1,015,500
OLTH - 2B - ZHIAY 1 R ASEHA 2
= Alel 6,235,500
= 4,740,000
= 1,495,500
A% MRS AT JIUFA A 500,000 800,000 300,000
308 KHXISHHI SOIH 500,000 800,000 300,000
13 2| S UHSHB A H IS AL 500,000 800,000 300,000
Q47 BT MDY S8 A 500,000
AOIERE 22 EtA 1,755,030 1,587,030 168,000
308 KXIEHHI SOI® 1,755,030 1,587,030 168,000
13 DI ZHSOICHE S A E R EEARIH] 1,755,030 1,587,030 168,000
OADIEDY 22 - S ALI(THS) 1,755,030
A|E ADIESY 7= 19 720,000 927,000 £207,000
308 XHXISHAISOI & 720,000 97,000 £207,000
13 ZOIASH NS BAHIE ALY 720,000 927,000 A207,000
04I9S ADERH 75 X2 720,000
Z2A ADIESE HASHS 28 XA 150,000 0 150,000
308 KHXISHHI SOIH 150,000 150,000
13 ZOI S UHSHB A H IS AL 150,000 150,000
OB2A ANESE HASHE 28 X2
Aret 150,000
R EEESEESS 9,300 0,000 AT00
202 it 900 1,000 A100
NETEE 900 1,000 A100
O4%t AYBY HLEX O] 900
208 L= 8,400 9,000 2600
REEEEES 8,400 9,000 2600
O43t MRS HRET 8,400
At CIXIE slal BBAA 75 8,000 0 8,000
201 Q2| 8,000 0 8,000
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ICT/SH & (St ®2)
224 ZH . O9l(B) - MIRAY - BES A HIm=S2t
13 SI |2 SUICHEHZ A E L EF ALY 1,033,000 1,059,000 226,000
Osnse Btedl 22AH 2F5(US) 1,033,000
NE=E ORNESANA 300,000 331,000 231,000
s 150,000
T 150,000
308 AXISHMSOIA 300,000 331,000 A31,000
= 150,000
& 150,000
13 SI|2ASHICHEH B A X L EFALH] 300,000 331,000 A31,000
OXg=x=E CINEs" XA 300,000
ax 150,000
& 150,000
NGWSE S 2HE 2F22] 59,000 75,000 A 16,000
308 AXISHMSOIN 59,000 75,000 A 16,000
13 SI 2 SUICHEHE A XL EALHI 59,000 75,000 216,000
OXSWSEA2MH 2 22(THS) 59,000
ICTAHY ZHSE 25t XI& At 116,100 129,000 A12,900
308 AXISHMSOIA 116,100 129,000 A12,900
13 BI| 2 SHICHeHE & =2 EF AL I 116,100 129,000 A12,900
OICTArY A 25 X2 At 116,100
ICT MM S4012 Jl=Hg XA 180,000 200,000 220,000
308 AHXIHMSOIH 180,000 200,000 220,000
13 SI|2ASHICHEHZ A E L EFALH] 180,000 200,000 220,000
OICT iX S0 JIs=He XA 180,000
E2 AZEO(W) OIS 580,000 420,000 160,000
308 AXISHMSOIN 580,000 420,000 160,000
13 BI 12 SOICHEH B & XL EALHI 580,000 420,000 160,000
OE= A2ZEQ0(W) OIS (HS) 580,000
L2TEQYN SAUE XA AL 50,000 50,000 0
308 AXISHMSOIA 50,000 50,000
13 BI 12 SOICHEHE A X LAE AL 50,000 50,000
OAZEYN ZAUE X& M (THS) 50,000
Grand ICTHMIEH 29 400,000 400,000
308 AEXIHMSOIH 400,000 400,000
13 BI |2 SHICHEH B & E L EFALAH] 400,000 400,000
OGrand ICTHRMIE 2 (THS) 400,000
ICTE=g == 224 HYHH 2g9X# 240,000 280,000 40,000
308 AXISHMSOIN 240,000 280,000 A40,000
13 BII2SOICHEHE & XL EALH] 240,000 280,000 40,000
OITEEE 5= 22Y HYHH S XE(
t3) 240,000
S=WR - ARHEAEHEH 29 556,000 350,000 206,000




;F?_—ii ICT/SW &+ %’éﬁ (St &)
4224 - B G9(EH) - AIRAY - BES of v G o HIDE2
308 XXM SOIH 556,000 350,000 206,000
18 SIS0t 4 A AS A 566,000 350,000 206,000
OF=SWR - RHEANEHEH 22 (HS) 556,000
ICT CIBtOI A8 2 160,000 160,000 0
308 AHXIEMSOIE 160,000 160,000
18 SIS0t HAS A 160,000 160,000
OICT ClHtolA 8 23 (HE) 160,000
CIOIE &Y Sd X AHAENH =9 2,220,000 892,500 1,327,500
CIXE de S OoIe 238 43t 2,220,000 892,500 1,327,500
- BIEHE A D18 THEFOHM 22| X 2 3HALY 1,500,000 0 1,500,000
308 AHXIEMSOIH 1,500,000 0 1,500,000
18 SIS0t oA AS A 1,500,000 0 1,500,000
Ol - BIEHHA Jl8h T @RI M 25
A () 1,500,000
SIS sLty HESER I 7= 140,000 185,000 /15,000
308 AtXIEHMSOIE 140,000 185,000 /15,000
13 S [2SOHe & EAS A 140,000 165,000 A15,000
OE=SXsatd AESER DIt 7= 140,000
ICT Ol=HIOI&AHIOf =4 300,000 437,500 A137,500
308 XtXIEMSO0IH 300,000 437,500 A137,500
18 SIS0t 4 A A A 300,000 437,500 137,500
OICT OlHiolE AR =L (THS) 300,000
sS40|1g 2U0IH g8 248 NH 180,000 200,000 £20,000
308 AXIHSO0IA 180,000 200,000 /20,000
18 SIS US4 ASAIE 180,000 200,000 220,000
OS2I YO0l 28 AL X 180,000
delsE SHes 28 d2og SHE 2= 100,000 100,000
308 AHXIHMSO0IA 100,000 100,000
13 SI[2SOHe & EAS A 100,000 100,000
Otlelss SHast 28 J2og 2HS
2*=(U8) 100,000
ClIOIEAMEIA Edst D18t &4 461,236 216,236 245,000
SSOO0IE W &0 & 0l 8435 145,000 50,000 95,000
SSUI0IH 28 2 AU 45,000 50,000 /5,000
308 AFAIEHMSOIE 45,000 50,000 /5,000
183 S| 2SO ZB HASAIE 45,000 50,000 25,000
OS30I0IH 28 23U 45,000
SO0 22 3 & e 100,000 100,000
207 ARl 100,000 100,000
02 MAHHZHI 100,000 100,000
OS&UI0IH & e & ojd 100,000
ClOIEDIEt S &3t 316,236 166,236 150,000




N N E S £ ST Lk
Zo: ClOIEIMHIA B8 Jlgt E4
Eel: OIoIEDIEt HE Ed35t (SH9 H2)
A2 2N - FB - O9(S) - HIRAY - BAS Ofl b4 o= HIR=2
=0 S ok - = = e =
lHI0IH GE EHE 22 166,236 166,236 0
201 LB-2AH| 166,236 166,236 0
01 Ar22eltl 166,236 3,000 163,236
OHMIetd Eot A =2 3,000
QHdiold o2 &3 szl 147,000
OJZHENAE RX|2e] 16,236
BIHI0IH GIE EHE 2435t 150,000 0 150,000
207 ARIHLH| 150,000 150,000
02 MADH | 150,000 150,000
OLd = &t ZAMX A 2Hole 24 150,000
Y S2IZHI(UsHD|I=™ =) 126,485 124,114 2,371
=&l 126,485 124,114 2,371
J1E23&H| 126,485 124,114 2,371
201 L2 | 66,977 68,114 A1,137
01 At 22|l 18,377 19,514 A1,187
OJ12+2H| 7,498
OJ12=H| 10,879
02 324l 48,600 48,600 0
O3324H| 48,600
202 o4t 35,190 37,400 22,210
01 =LHO4 b 35,190 37,400 A2,210
OJ1=2064Hl 35,190
203 AR F=&lh| 21,000 18,600 2,400
01 D22 RS 6,600 6,600 0
OJ|22IHRFA| 6,600
M EA2IHRFAL 14,400 12,000 2,400
Qs | =3 3t 4,200
OtrA =41t 3,600
ORISEZ=& 1t 3,000
O ARSI =8 1 3,600
405 RHaHESH 3,318 3,318
01 ML =EFSHI 3,318 3,318
OZHZely 7Y 3,318




H & 0l & AHS B Ml A

H WSITH= 2024-02-01 16:13:41

A= WEoIT= Sy RS =
Zu: mee splo As)
Chel: SAUHIIY |4 EER=E)
AR R BB B(3H) - MBAY - BES 0l arey diEx HIRS2
d= - A - R F S . 0l &2 =
AASH 37,337,539 37,000,927 336,612
ray 1,200,000
o= 36,137,539
A SAlA g 245} 12,053,200 8,450,200 3,603,000
g 1,200,000
& 10,853,200
SAHHIY |4 154,200 171,200 A 17,000
Mt 29 8,400 9,200 A800
201 LEr2AH| 7,200 8,000 AB800
01 AtR2teld| 7,200 8,000 A800
Ot A4=ZH| 7,200
203 PR =&XIH| 1,200 1,200
03 AIZHF=RIHREEIY| 1,200 1,200
ONetndssd =& 1,200
Ol=HIX(InnoBiz) ISESKIE Al 10,800 12,000 A1,200
308 AXIHHSOIA 10,800 12,000 A1,200
13 37| 2SSt E A EHIEAISHI 10,800 12,000 21,200
O0l=HI=(InnoBiz) CISEES XA 10,800
OleHIAD|Y ZdMeE2A3 AFH 135,000 150,000 A 15,000
308 AXIHHSOIA 135,000 150,000 A 15,000
13 S| 2SO CHSHZ A X R EALSHI 135,000 150,000 A 15,000
O0lLHIRD Y BHSEAAT ALY 135,000
NS S8 B4 11,899,000 8,279,000 3,620,000
rag 1,200,000
= 10,699,000
+=QRo=ES NMIIU2M IS JIeREs(U2) 4,370,000 4,370,000
402 QIR0 4,370,000 4,370,000
01 QIZHKEAIE X (KHMITHS) 4,370,000 4,370,000
Ox=9&58 MI|IUsEXNSKE IS 4,370,000
N=EX 2201 Z2UQ DHIHEY XK (HEAY) 74,000 74,000
308 AXIHHMSOIA 74,000 74,000
13 SISO CHEHE A X R EFALSHI 74,000 74,000
OXsEA 2201 2Ll DHAIE X 74,000
NEX BEEAY ZAa N XS(HEAY) 500,000 500,000 0
308 AXIHHSOIA 500,000 500,000
13 ST 2SO CHSZ A X EAISHI 500,000 500,000
OXNSt 2346ty 2 N& 3 XIJAAMS 500,000
NSXHES 215 X3 100,000 200,000 » 100,000
308 AXIHHSOIA 100,000 200,000 100,000
13 37| 2SSt EAEHIEAIS I 100,000 200,000 A 100,000
OXNsSAEE 215 X3AIS 100,000
NEXDIY )| AT XA (HEAIY) 700,000 1,000,000 300,000
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BstOITY= S ASAD
metarel 84
NS HMHSS A (SH9 H2)
LA B SRI(E) - AISAY - BES of v G o HIDE2
308 XXM SOIH 4,068,000 5,726,000 1,668,000
18 SIS0t 4 A AS A 4,058,000 5,726,000 21,668,000
OXA=34 SHAL(US) 4,058,000
NASHAMSSEEX KZAS(THS) 1,530,000 2,768,000 21,238,000
308 AHXIEMSOIE 1,530,000 2,768,000 21,238,000
183 S| 2SO ZB&HAEAIE 1,530,000 2,768,000 1,238,000
OXSAHAESSSEI NZAS(US) 1,530,000
A2 ZBHHELE F4 A 480,000 600,000 120,000
308 AXIHMSO0IA 480,000 600,000 120,000
13 SI12S0He A AS A 480,000 600,000 120,000
OAlz 225t SEA 480,000
A2 AHHAE &3 WX KA 225,000 250,000 /25,000
403 AXIEHMSAH=0lH 225,000 250,000 225,000
02 SISt U2 S A AEHI 225,000 250,000 225,000
OAlZ MANE D3t THIIX| XA 225,000
NSEe SadEA 45,306 328,000 N282,694
308 AHAIEMSOIE 45,306 328,000 N282,694
183 S| 2SO ZB & HASAIE 45,306 328,000 A282,694
OXgs JAdEAS(TS) 45,306
OIXIE X St FaH 29 300,000 140,000 160,000
308 AXIHMSO0IA 300,000 140,000 160,000
13 SI[2S0He 4 EAS At 300,000 140,000 160,000
OOIXtEXl Stk =8 29 300,000
OIRIEX AREYH |4 2HS 25 AL 220,000 280,000 260,000
308 XXM SOIH 220,000 280,000 260,000
18 SIS0t oA AS At 220,000 280,000 60,000
OOIXtE Al AEEY |4 SHS 25 A 220,000
OIRtERl D= - NE Bd=E St AE 400,000 500,000 100,000
308 AHAIEMSOIE 400,000 500,000 100,000
18 SIS0t AS A 400,000 500,000 100,000
OO0IXHETl D& - AIE 38" Hst X 400,000
XEMICH OIXFE X EE Jl=oHe K& 500,000 800,000 A300,000
308 AHXIHMSO0IA 500,000 800,000 A300,000
13 SI12S0He 4 A AS A 500,000 800,000 A.300,000
OXHAIL OISR EE JlsHe X2 500,000
HHEICI THALS - HEE DY d2eeed 40,000 40,000 0
308 AHXIEMSOIH 40,000 40,000
18 SIS0t & AAS At 40,000 40,000
OBiElel HAIS - THES Jlsig dE0E
24 (t3) 40,000
S5 0IMAX tHEsYd g2 29 K& 13,500 15,000 A1,500
308 AHAIEHMSOIE 13,500 15,000 1,500
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stolfy= 24 ¢ ARAD
Herag 84
AP ESSAIS (SH9 H2)
AR SA . O(BH) - HRAY - BAS ofl b dE= HDS2
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